log (L*/L* ) CIELAB-Helligkeit L* normiert log AY/AY,) CIELAB-Normfarbwertdifferenz
LHL* fur die UmgebungsHelligkeitL* , AYIAY, AY normiert fur AY,

24 100 =s(Y/Y)"=d  (Y4=100Y,=18,5=116,0, n=1/3, d=16,0) [ 24 100.* =s(Y/Yp)"-d (Y4=100Y,=18,5=116,0, n=1/3, d=16,0) [1l4
L*=r (YIYY)"=d (r=s(Yy/Yy)"=65,49,L* = r-d =49,4) [1b) L*=r (YIYy)"=d (r=s(Yy/Yy)"=65,49,L% = r-d =49,4) [1b|
LHIL* y=g(YIYG)"-h  (g=r/(r-d)=1,32, h=d/(-d)=0,32) [1| dY = Yo/ (n$)I(Y /Yt [2c]
log [(L*/L* y+h) /g ] = n log {//Yy) [1d] A¥y = Yol (nS)](Yy / Yo" = 1,4602 [2d]
1410 In [(L*/L* , + h) /g ] =In(10) n log Y/Y,) [1e] 1410 gy / dy, =(Y /Yy n [2e]
(LHL* | +hy [ g = @0 nlog (7Y) [f log(dY / d¥,) = (1-n) logY / Y) [2f]
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log [(AY/Y) I (AY/Y),]  CIELAB -Y-Empfindlichkeit ||log[(Y/AY) / (Y/AY),)]  CIELAB -Y-Kontrast
S/Su=(AYMIAYTY), — normiert fur (AY/Y), CrlCry =(YIAY)(YIAY), normiert fiir ( YIAY),
24 100% =s(Y/Yp)'=d (Y,=100)Y,=18,5=116,0, n=1/3, d=16,0) [ 24100-* =s(Y/¥y)"-d (Y,=100,Y,=18,5=116,0, n=1/3, d=16,0) [14
L*=r (YIYQ)"=d (r = s(Yy/Yy)"=65,49,L* = r-d =49,4) [1b) L* =r (YIYy)"=d (r = s(Yy/Yy)"=65,49,L* = r-d =49,4) [1b|

dY/Y:[(Yn/(ns)](Y/Yn)H'/Y [3c] Y/dY:Y/{[(Yn/(ns)](Y/Yn)l’"} [4c]
@Y /1Y) =Y/ (n8)1(Va/ Yo ™1 Yy [3d] (V1YL =Y (LYl (nS) (Yl Y)' ™) [4d]
1210 (dY /Y)/ (@Y /YL =(Y/Y) " Belll 1420 (v /dy)y/ (Y /dyy=(Y/Y)" [4e]
log [(dY /Y)/ (dY / Y)] = (-n) log(Y / Yy) [3f] log [(Y / dY)/ (Y /dY)] = (n) log(Y / Yy) [4]
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